
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

7, 597 × 10000 = ________ 7, 985 × 1000 = ________

5, 764 × 1000 = ________ 2, 128 × 10 = ________

1, 939 × 100 = ________ 9, 792 × 10000 = ________

10, 41 × 1000 = ________ 8, 975 × 100000 = ________

1, 668 × 10000 = ________ 1, 606 × 100 = ________

9, 4 × 10000 = ________ 4, 739 × 1000 = ________

1, 845 × 1000 = ________ 9, 264 × 10 = ________

7, 197 × 100000 = ________ 4, 805 × 100000 = ________

8, 146 × 1000000 = ________ 7, 603 × 100 = ________

6, 645 × 10000 = ________ 9, 716 × 10000 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

7, 597 × 10000 = 75970 7, 985 × 1000 = 7985

5, 764 × 1000 = 5764 2, 128 × 10 = 21.28

1, 939 × 100 = 193.9 9, 792 × 10000 = 97920

10, 41 × 1000 = 10410 8, 975 × 100000 = 897500

1, 668 × 10000 = 16680 1, 606 × 100 = 160.6

9, 4 × 10000 = 94000 4, 739 × 1000 = 4739

1, 845 × 1000 = 1845 9, 264 × 10 = 92.64

7, 197 × 100000 = 719700 4, 805 × 100000 = 480500

8, 146 × 1000000 = 8146000 7, 603 × 100 = 760.3

6, 645 × 10000 = 66450 9, 716 × 10000 = 97160
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